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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
HUR-ER
= 1 35, 578, 975
T
= 1 2, 585, 899
HEHI T
= 1 377, 400
R H W A OHRE
m3 340 1,110 377, 400
EEER T
=X 1 2, 208, 499
TR (2% 1) EEAEODH BIGHTE
m2 210 634.9 133, 329
+mh T CEH - ER/IRY 2ET)
= 1 1, 506, 550
R Zpcs
= 1 568, 620
HBRM R T
2V 1 19,701, 156
FEEDW B T
= 1 19, 701, 156
ERHRE E D RORT Tk BB G0. Tul=6. 2m, M L-/£ ¢ 0
.4mL=4. Om, ZZREKEL=10.2m
¥N 92 214, 143 19, 701, 156
EEHEET
= 1 6,997, 138
2y =b7"wy) (%7 ny ) 3R)
= 1 4, 879, 536
EESIVAEPYE S 150kg /BT £ 2 350mm {8 HE 447
FHAEME RC-40 Aav))-1 &5
18-8-25BB  W/C=60% 7K y—ME
m2 163 19, 613 3,196,919
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THRXSy « TAE - F5 - #05 % THEA B = A E M & #E WE (GRS
@A T 447" 2
m 19 18, 365 348, 935
/NEIET 447" 8
m 19 25, 784 489, 896
H HitR RS 3 VA A (1645 3878) t=10
m2 11 3, 446 37,906
av)) - b 18 EBEREERC-40 t=100mm
m 40 20, 147 805, 880
TAET
=X 1 1,274,112
ARy -} 21-8-40BB W/C=60% t=200mm
HEBEPARC-40 t=100mm
m2 192 6, 636 1,274, 112
HEAT
= 1 466, 410
G5 EE T 100m2LL_E300m2AiH
m2 210 2,221 466, 410
PEEE T
2V 1 377, 080
B2 )) =} 21-8-40BB W/C=60% HFERERO
=40 t=200mm
m3 4 94, 270 377, 080
WEmREAT
= 1 1,503,976
EmBUE L T
= 1 1,238,077
av)) - MEEY BUE L RS FEWOE T
m3 61 7,559 461, 099
WEEEAME WEEER2
1 134 5, 452 730, 568

E + 228 ALkt B i =
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
AR E
m3 30 1,547 46, 410
JEALEE T
= 1 265, 899
FRIE av)) =ik (ERS)
m3 61 1,645 100, 345
RISy ) -k (JEA)
m3 61 2,714 165, 554
G an
=X 1 4,790, 806
THEAERT
= 1 4, 790, 806
IRERIR
= 1 1, 247, 400
it TE T %+
= 1 2,698, 000
LA RC-40 ¥/E 150mm
2V 1 13,088
BERAR 22X 1,524 X 3, 048 (mm) FHE -
= 1 140, 760
KE+D> T Mt £ 0 5 (HEERIE)
= 1 691, 558
EETER
= 1 35, 578, 975
B E
2V 1 6, 933, 215
HIBIRRE
= 1 3, 065, 604

E + 228 ALkt B i =
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
EIRE
= 1 2,110, 237
IREEA E R
= 1 268, 259
SIRAASL R E R HETA%, 7 7v/b
= 1 1,841,978
RGREYEE (i)
X 1 955, 367
HiBRERE (FiH L)
=X 1 3,867,611
MTHEE
= 1 42,512,190
B E R
= 1 14, 632, 689
TEHEFAM
=X 1 57, 144, 879
—IRE %
2V 1 10, 355, 121
Tl
= 1 67, 500, 000
HE BN
= 1 6, 750, 000
TEES
= 1 74, 250, 000
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THEXS - T - &R - f5 % THEA B = HE & #E WE (GRS
HUR-ER
= 1 59, 382, 191
T
= 1 1, 407, 297
HEHI T
= 1 122, 760
R H W A OHRE
m3 0 0
HEH +w R OEH]
m3 110 122, 760
EEER T
= 1 802, 340
BT (5 EHEFED R BHGH &
m2 0 0
b W CEs-EREY L&)
= 0 0
AR TR CE- ERIRY &)
2V 1 579, 040
Ew R
= 0 0
EwZpss
= 1 223, 300
IEHEFE T (ICT)
= 1 175, 450
TR (B 1) (ICT) IR EDH Y
m2 220 175, 450
AT
= 1 306, 747
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
H 2 AN T oM
=K 1 24, 507
T E R T+ CEB - ERIRY L& T)
= 1 282, 240
HARIR T
= 1 28,919, 583
FEEO W B T
X 1 28, 919, 583
e RORRIE O RO T ik BWEE 0. TmL=6. 2m, } V=& ¢ 0
. 4mL=4. Om, % BFEL=10.2m
ZIN 0 214, 143 0
EREORE E O RDAT Tk WRE G0, Tul=6. 2m, M L—/£ ¢ 0
. 1mL=4. 6m, X EEL=10.8m
ZN 99 292, 117 28, 919, 583
EE#ERET
= 1 7,195,122
E¥+LT
=X 1 49, 407
FRAE Y +r
2V 1 22,410
HEREL
= 1 14, 370
HEHEEIE
= 1 12, 627
) =b7 vy ) (%87 vy ) 38)
= 1 4,619, 992
REN7" ny ) 3R 150kg/{EAH 28 2 350mm JB /47
COEAWA RC-40 Aoy - ETE
18-8-25BB  W/C=60% /Ky~
m2 0 19,613 0
EESIVAEPYE S 150kg /BT £ 2 350mm {8 HE 447
| FAWER RC-40 Amav))-bETE
18-8-25BB  W/C=60% 7K y—ME
m2 162 19, 908 3, 225, 096
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
@A T 447" 2
m 0 18, 365 0
fEE T 447" 2
m 28.5 18, 753 534, 460
/AEIET 547°8
m 0 25, 784 0
H itk e 3 1A A (1665 3878) t=10
m2 0 3, 446 0
H HitR s IR (1572 %78) t=10
m2 11 3, 476 38, 236
v ) - b 1A ERREFEARC-40 t=100mm
m 0 20, 147 0
EVAR B4 1A ELEFARC-40 t=100mm
m 40 20, 555 822, 200
SEEET.
=X 1 1, 652, 091
SEaEavy)-p 21-8-40BB W/C=60% t=200mm
B ARC-40 t=100mm
m2 0 6, 636 0
SEagavs)-p 21-8-40BB W/C=60% t=200mm
FEBEFTRC-40 t=100mm
m2 192 5,909 1,134, 528
ZEET vy
1@ 27 19, 169 517, 563
WA T
= 1 494, 120
EE EE T 100m2LL_E300m2A 5
m2 0 2,221 0
wE BEZ T 100m2Lhk _E300m2K T
m2 220 2, 246 494, 120
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
PEEE T
= 1 379,512
A2 ENZIRN 21-8-40BB W/C=60% H:FEFARO
=40 t=200mm
m3 0 94, 270 0
P B2y ))—} 21-8-40BB W/C=60% HBEREAERC
=40 t=200mm
m3 4 94, 878 379, 512
WEREL
X 1 2,922, 984
EEWEIE L T
=X 1 2, 083, 606
v -MEEBUE L ALY MW T
m3 0 7,559 0
ay ) - MEE EE L ATEY) HBOE T
m3 20 7, 644 152, 880
av)) - MEE BUE L SR EIEY) BEUE T
m3 62 15, 437 957, 094
WEEERME WEEER2
1 0 5, 452 0
WEEAME WEEEA2
& 134 5, 507 737, 938
y=b RS
= 1 63, 156
HIARRT S
m3 0 1,547 0
BEIAEE
m3 30 1, 568 47, 040
+o5
= 1 20, 200
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
W%t UBE 1wy Mt
= 1 105, 298
JEALEE T
= 1 839, 378
FRIE av)) =ik (ERS)
m3 0 1,645 0
FRIE ) -k (JEA)
m3 20 1,212 24, 240
IR i V) -k (8%F5)
m3 62 1,515 93, 930
RISy EMARIY: 365
m3 0 2,714 0
ALy av) ) =ik (ER)
m3 20 3, 256 65,120
i U v -k (B%Ah)
m3 31 4,619 143, 189
ALy ) - b (R EL)
m3 30 6,928 207, 840
ER - AN E BT IAFy IR
t 2.7 112, 985 305, 059
FEan
= 1 9, 237, 362
TEMHEKT
= 1 9,119, 562
IRER I
= 0 0
IRERIR B
= 1 2, 056, 680
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
M T mEmE
=K 0 0
e TE %
= 1 2, 468, 640
e TE %+
(FFAW)
= 1 696, 930
L) RC-40 ¥/E 150mm
= 0 0
Fiedll RC-40 ¥UE 150mm
=X 1 52, 848
BERAR 22X 1,524 % 3,048 (mm) FXE-#{E
= 0 0
BRI 22X 1, 524 X3, 048 (mm) 7% & - Z=
= 1 142, 902
R 22X1, 524 X6, 096 (mm) 3% & - =
(KE%)
= 1 208, 000
KELD9H T TiHEEME 00 5 (LFERHE)
= 0 0
KAE+o o T it £ 5 (HERTIE)
= 1 3, 493, 562
RET
= 1 117, 800
HGRE
= 1 117, 800
M EiE IR T
2V 1 636, 653
E¥E+T
= 1 63, 645

-6 - Etrzmy Ak RiER
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
PRAE Y +w
= 1 4, 482
HREL
= 1 57, 480
HEEIE
= 1 1, 683
/N T
X 1 416, 667
BN B6. Om X H2. 3m
m2 13. 7,700 106, 260
TERAE - B E 1. Im X H3. 5m
#* 3 103, 469 310, 407
B kA T
= 1 156, 341
HRTE (BRI Bh LA M 1. 1m HFAESA
m 28 5,093 142, 604
FoBE Nk
#= 1 13, 737 13,737
EBGEHER AT
= 1 9, 063, 190
EMRE L T
= 1 736, 885
EEERR T TAT7VMERIERR 15ecmBL T
= 1 14, 995
A AR R TAT7VMRZERR SHEERRE S cm
m2 3,900 185. 1 721, 890
FERALE T
= 1 1,179, 165
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THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
HOE TAT 7V M
m3 195 3, 442 671, 190
AL Gy TAT 7R
m3 195 2, 605 507, 975
TAT 7V EREE T
= 1 7, 147, 140
N WEMEY BAEITy-T7 RC-40
29mmPA b 34mmA T
m2 3,900 183.6 716, 040
KB (H1E - BKIFHE) &FE (2. 300 L2, 40t/m3KTH) &
KL EET A2/ 20FHFFAE AT N 2
50mm 3. omiB
m2 3,900 1,649 6, 431, 100
EETHEE
= 1 59, 382, 191
EIBERER
= 1 17,771, 821
HBIRER
=X 1 11, 952, 562
EIRE
2V 1 3,457, 143
IRERM TR
= 0 0
{REEA
= 1 505, 479
Sy AR B P NV M
= 0 0
43 BRAR ST R 6 B T TR, 7 V1
2V 1 2,951, 664
BT s s
= 1 6, 575, 683
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B =&

THEXS - T - &R - f5 % THEA B = A E M & #E WE (GRS
METHRER
= 1 15, 520
RSFEEE (ICT)
= 1 1,835
VAT AR % (ICT)
= 1 552, 455
3T TR - 3IRTTEREHT -/
DYERLE A (ICT)
X 1 2, 653, 264
SRTCHURIZEER - 3RTTT —Fi
LB SMNERESE
=X 1 1, 976, 090
ERFES -
= 1 1, 376, 519
e
= 1 471, 157
Ll SEAVAZ
=X 1 471, 157
BIGmEWEE (Fi )
2V 1 1, 448, 579
HBIRERE (FiH L)
= 1 5, 819, 259
MTHEE
= 1 77,154, 012
RGEEE
= 1 21,707, 437
TR A
2V 1 98, 861, 449
— R E S
= 1 15, 888, 551
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THEXS - T - &R - f5 #H & THEA B = & B Al & # WE (GRS
Tl
=K 1 114, 750, 000
HE RIS
= 1 11, 475, 000
TEZHE
= 1 126, 225, 000

- 10 - Etrzmy Ak RiER




	第１回
	第２回

